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Identify the sources of soil pollution from the
following list:
frfafaa 9= o 9 ger yguur o& At @l
g+ ﬂﬁn{ $
(1) Industrial effluents/3iTifTs afZ:&ma
(ii) Eutrophication/JZIftheh¥= (amom)

1) Unscientific disposal of nuclear waste

R Ui &1 saafe e

(iv), off-shore oil drilling/3T9aea da &= (fgfefm)
Improper management of septic systems
fersmeh syomferat &1 s SeUa

Choose the correct answer from the options

given below:

frafafiaa # 9 & faemea &1 === St
(a) (i), (ii) and (iii)/(1), (ii) 3 (iii)
(b) _kii), (iii) and (iv)/(ii), (iii) 3T (iv)
\,e)/(i), (iii) and (v)/(1), (iii) 3T (v)
(d) (ii), (iv) and (v)/(ii), (iv) 3R (v)




Which of the following statements represents

mangrove characteristics as a safety hedge?

fafaiaa § @ ShiA-91 held hog-a-eafd ot

forgtaareti sl WY& OX & w0 O Wldafsteda ahedm

2?

(a) The mangrove trees are tall with dense
canopies
HeD-ITHT dTd g&T ol 3T DR BId 2 |

(b) The mangrove trees provide both food and
medicines/FeS-aAHd AT I H WEI-THL
ik gard g S F

(¢) The mangrove swamps separate the human
settlement from the sea/FHeS-IAHN A<

RerreT & 9% ¥ 7 & |

(d)/The mangrove trees protect vulnerable

coastlines as they hold soil together

he-dTHfd_dlc] el gl dcl@isdl chl &
FT & i I gt &1 S W g1




Which of the following statements about the
Volatile Organic Compounds (VOCs) are X
correct?

arsgviier S ifiTeR é.aﬁi:ﬁ.)) % IR W
frreafefaa & @ -9 haT Tt &7
(1) They cause acid rain
T GTE ¥ 3T aut g 8|
w) They may cause cancer
ZAH Islg ¥ HyL & GohdT 2|

\}@/Ii) They play an important role in the formation
of photochemical smog/a TSl THAH TH-

F8U (W) o v mgequl JHe | Gl

Select the correct answer from the options
given below:

frafafega § O waifaes Sugwh facked ot
adA T:ﬁlﬁ'q :

(a) (i) and (i1)/(i) 3R (ii)

(b) (ii) and (iii)/(ii) 3T (iii)

(c) (1) and (111)/(1) 3T (ii1)

(d) (1), (i) and (iii)/(1), (i) 3T (iii)




oy,
Which of the following was the central aim of @@

the Paris Agreement?

faefeiga o 9 sI=-a1 IR9 |ueiar & g&d

m ® ./

(a) To reduce the CFCs emissions
O TE O IS Dl HH HAT

(by/To strengthen the global response to the threat
of climate change/Sieidry GRad+ % @R &
gyfq afge g A AoEd Ll

(¢) To address biol})gical diversity 1ssues
Sifge fafawd & g8 W &am &

(d) To address the problem of ozone layer
depletion

aﬂsﬁqm%mﬁwwﬁaﬂw




The ancient Indian University famous for
specialized study in 'Hinayana' was

‘Fa’ o fafdte sreae & fau wfig ==
WA ﬁm v : @
(a) Nadia University/dTean fagfagame
(b) Nalanda University/dreial fggfdedrerd
gc) Vallabhi University/dectHl ﬁ#’%lfaq\qlc@
(d) Vikramshila University/fashaf3ren fagfagarda




Identify Key result areas of the Skill (i >
Acquisition and Knowledge Awareness for
Livelihood Promotion (SANKALP) project:
HIvTeT—3Tfamrgur (Remer Qiaasiio™) aar A =-
IMTFAT (FAiT AT E) it ATSAIES
WHIITT (Hehed) QiETSTAT eht Oiiurier - arsih it
g ehilsia :

\u(’ff Institutional strengthening/ HiLAT{-Teh_HgGIh{uT

(11) Promotion of handicraft and carpet sector

skills/BLIHTHAT AT HTAH ATHAT HISTA Taad
i) Quality Assurance/TTOTeRIT ST
) Inclusion/IATSST
(v) Overseas Employment through an agency

forelt TSIt o areaw o faqsr # A=

yri) Expanding skills through Public Private
Partnership (PPPs)/S{&G0 Il el
(Grdrd) & At T I H TAOR

Choose the correct answer from the options
given below:

=t fau T1g, faerea @ 9 39X IAfAQ -

(a) (i), (i), (iii) and (iv)/(i), (ii), (iii) 3R (iv)
(b) (1), (iii), (iv) and (v)/(i), (iii), (iv) 37T (v)
(c) (ii), (iv), (v) and (vi)/(il), (iv), (v) 3T (vi)
(d) (i), (iii), (iv) and (vi)/(i), (iii), (iv (vi)




Identify reform related areas of governance
listed by the NITI Aayog in the Three Year
action Agenda (2017-18 to 2019-20) exclusively:

3T ®U W Pr-adfa e arsEr (2017-18 |
2019-20) & Hifa_smdT g Geitelg 9@ ok

g o o BT GU &Rl tlg?lTﬁrq -
(i) Envirenmental/Taoia /

(h) Civil Services/f8fae

(iii) Electoral/fat==
(1v)Corruption related/‘HEIEIII g daifeq
(v) Info unication Technology

go-T 3R =R Steaifiet

Choose the correct answer from the options
given below:

(a) (i), (ii) and (iii)/(1), (ii) 37 (iii)

[b) (i), Giii) and (iv)/(ii), (iii) 3 (iv)J
(c) (ii1), (iv) and (v)/(ii1), (iv) 3 (v)
(d) (i), (iv) and (W/(), (iv) 3R (v)




In the context of value education, which of the
following stages will be considered a relatively B
advanced stage?

o e o dad o fafeafaa o @ fora werm
G aﬁsmqw@_ﬂ SR HT S
(a) Value collection through imitation
RN & WA ° Hod Gehold
(b) Value assessment through inner evaluation
AR Jodichd o Wedq § qod il [T

(c) Value clarification through exposure

SHHR o ATead § o I ekl
(d) Value consolidation through integra\tiy/

THHWT & HEIH § oI THE




2,

—

Two cities P and Q are 360 km apart from each
other. A car goes from P to Q with a speed of
40 km per hour and returns back to P with a
speed of 50 km per hour. What is the average

speed of the car? _
EﬁmﬁPaﬁTQ@gﬁ%l@w
30" feret yﬁu’%aﬁwﬁr P® Q dckh It 8
P (50 . wfer w2 @ whr & amow wie
wﬁ%nwaﬁ@m@m ?

\Aa) 45 km per hour/45_fpHl, jﬁ.ﬂl{/

(b) 48 km per hour/48 ferdl. fd 2T Y L =
(¢) 50 km per hour/50 feHr. Jfd HeT
(d) 55 km per hour/55 frdl. S =T




The inherent cause (Samavayi) of Indian \©
Philosophy corresponds of which of the causes

given by Aristotle?

AT T R IT=ATHTgel ShNUT (HHETE!) 310
gWT T HIA-W HEUN & HE9T§ 2
K Material cause/4ifdeh av'TJCUTj/ P"}/ﬁ
(b) Formal cause/3ThIR HRIT L
(c) Efficient Cause/¥eIH HRUT

(d) Final Cause/SarsH ohuluLj




In which of the following there is a greater < “Te
flexibility in both the methods and process of ® \_ G
research? }é

frafaiaa o ferad o & faftet e wiseenr o
AUATGHA ATk TRIAT (FATT) Tt ST &7
(a) ,Ethnography and phenomenology —>
\/atrlﬁ'a Ud SeAgfih 3Head = A
(b) Descriptive survey and impact studies —»
JUIATCTe, ToRT0T g1 N9 37699

(¢) Experimental and observation based studies =
YA Td 0T 3Teiia 31eaad

(d) Expost facto and historical studies —2

HEATR T Ui 3eaa




In conducting an empirical study. a researcher (|¥
employs a non- parametric test for data (9_
analysis and finds that the 'statistics' arrived at /
is ' significant' at 0.05 level. What decisions @ —
will be warranted thereafter?

Ush 3Fsagufass g & dgd INuedl Wed
fasﬁw%am&rﬁmuﬁmmmw \(\0—
ST & AT T U 3 ¢ smT mifema @
uH .05 WX W adEY e g 9 R

TE T 0TS 3H SMYW W e emgu? 0 L =
(A4 Rejecting the Nlrl\ll hypothesis (H)
ARSI IReHTTH T T (H,) T IRER
(B) Accepting the Null hypothesis (Hy)
[ G (Hy) ol SR T /
ﬂepting the alternate hypothesis (H,)
faeheaTeTah UR&HET (H;) & iR S

(D) Keeping the decision in abeyance
fqofa &t T # W

(E) Rejecting the alternate hypothesis (H;)
foreshedTcsh UReeTAT (H,) o




Which of the following ar@- probabilit )
sampling methods? / X
ﬁnﬁaﬁgﬁﬁﬁﬂmﬁﬂ?—wmuﬁm‘? %m
wferera fafir 82

(A) Cluster sampling/TTes Hfd=ra q

(B) Judgemental sampling/fuia- 3menfiq gfaeeaa — -

(C) Systematic samplmg/ail‘q'ﬁﬂﬁ Sfcraad

(D) Snowball Samplmg/HI@Ich PINERE

(E) Quota sampllngfaﬂqm gl — ('(

Choose the correct answer from the optlons
given below:

et fear T faeeut o @ € SO g

(a) (A), (B) and (C) only/&ad (A), (B)C-FﬁT (C)
(b) (B), (D) and (E) only/&dd (B), (D)3 (E)
(¢) (B), (C) and (D) only/&dd (B), (C)3T (D)
(d) (C), (D) and (E) only/&ad (C), (D)3 (E)

Q\




15.

Given below are two statements :
frer = e few TTg © -
Statement/aherd (1) :

Qualitative research 1s an umbrella term to refer
to wvarious research strategies that share certain
characteristics. The data collected have been

termed ' soft' i.e. rich in description/I[OTadI9i{sh 3T
Ush a9k 9= @, forgesr aregd 39 fafts shw
Torifaat & 2, St =g faSiwarsdt =1 grsm s 2
TIifga w=<dl =1 ‘9o’ am fear Tar @ stafa 3
faawer § w9z a §)

Statement/<hearT (1) :

Quantitative research i1s mainly hypothetico
deductive and employs mostly statistical
techniques for data analysis/9foTTHIEH TIrer

THEd:  OReheddarcdsh- feTEATTss Shfa T gar @
T uea favawer 8 sifussaxr wifemssa fafe=a =t
STITATT Ham 21

In the light of the above statements, choose the
correct answer from the options given below :

a'u'g?ﬁaaa:‘réaanﬁﬁaa r faifera farerear o

(a) Both Statement I and Statement Il are true
e (1) 31T (1) =491 =& 2

(b) Both Statement I and Statement II are false
FHa (1) 37T (1) =491 T 9287 2

(c) Statement I is correct but Statement 11 is false
H= (1) I 2 fobg == () 779 @

(d) Statement (1) is incorrect but Statement (II) is
true/s== (1) 379 2, fohg === (1) =&t 2

J~




Which of the following is considered as an
effective form of verbal communication?

frafafiaa & @ ford diflges TweoT et gt
WWW%‘) y
(a) Story- telling/gmI @/ \s J

(b) Sloganeering/aR AT

(¢c) Use of high pitch of voice
ef & 3TT WL H Jam

(d) Monologues/TshTellq




Which of the following are useful in positive
components of classroom communication? \ Lo

HT TWEUT & TehNIcHeh Teehi W fETeAgd
o ¥ A W SUANT g7

(A) Restrictive actions/SfcaemcHs fehard

(B) Empathy/dg4fd v

(O) Punctu_ality/’ém?ld%\/

(D) Follow-up/BFlEI?IT-L/

(E) Scattered reflections/SHfd o

Choose the correct answer from the options
below.

rer o 73 foeeat o @ wE 3T g

(a) (A), (B) and (C) only/&ad (A), (B) 3 (C)

(b) (B), (C) and (D) only/&ad (B), (C) 3R (D) /
(¢) (C), (D) and (E) only/&ad (C), (D) 3R (E)

(d) (A), (D) and (E) only/&ad (A), (D) 3R (E)




Given below are two statements:
“=er 9 o fau 7o § - /

Statement/eherA (1) :

Interactive and multimedia systems provide for a
new culture of teaching and learning

TS TEHfq T STaERT HLT 2 |
Statement/eherT (I1) :

. Virtual classrooms convert students into( senseless )
humanoids/3T9TET ey faenfefai ot graqangsia \/~
e & B9 H giafdd shidl @ |

In the light of the above statements, choose the
correct answer from the options given below :

IUUTh hAAl oh 3TMclich W fAAifeha fasheal ®

o g s oA

(a) Both Statement I and Statement II are true
A (1) 317 (1) ST Tt 2

(b) Both Statement I and Statement Il are false
FHIT (1) 3 (11) AT Tord &
Statement I is correct but Statement 11 1s false
&I (1) T 2 &g = (1) 7Toa @

(d) Statement I 1s incorrect but Statement II is
true/se (1) 379 8, fohd o= (1) T 2




\/ldentlfy the sequence of( stages of m@

processing : .
u%mm%wﬁ%maﬁumﬁﬁm \“yﬁ"\
(A) Action/fsham o ”\

(B) Internalisation/3M+a{{ehbT &
(C) Selection/@ad/

(D) Understanding/SHgIT v

(E) Perception/37aaed v

Choose the correct answer from the options
given below: —

Frer farm T foreredt # W T I gRE—

(a) (A), (B), (D), (E), ()%
(0) (B), (C), (A), (D), (E) K

(c) (D), (E), (B), (A), (C) *
d) (EJ (Ei (E) (E) @1/




Match List I with List 11
- () =t g=h- () @ gafea iy (\D\)

List/g=i-1 List/=it-11
(Medium/ATegH) | (Example for descripti(:y \/

—_— TarauT aht IS8T
(A) | Newspaper I) [Networking \ \\

qUER 94 f\ Aeafd \\]
(B) [Radio and Audio, Video and \\\

television graphics i

e AU, YT dAT AT A \‘

EEE E] F,
(C) [Social MediAa K (I11) }Broadsheet/siiesiie

ISR

Hifg=m

(D) Multl me,-d f{ (IV)" | Broadcasting/S&RuT

Choose the correct answer from the options

glvenbelow ' @ Easy Notes 4u Online Study

(©) (A)-(1). (B)-(1D), (C)- (111)’(D) (1V) %
(d) (A)-(ID), (B)(IID), (©)-(VD), D)=y /™




In a 'pér-k -A,- B, C, 'D,' E and F are -sitting Cis
the brother of D's husband and son of A. F is
the daughter of D and sister of E :

U Uk § AB,C,D,E 3iRF 8% CD &
ufer o1 T8 ¢ oW A &1 UF ¢l F,D & Tt §

A E & 9 3 @
(A) E 1s the grandson of A/E, A &I A 2

(B) F is the daughter of C/F,C @I Tl &

(C) B is the father of F/B, F & fudr 2

(D) There 1s one son and one daughter in the
group/FP8 H Th T ﬁ@ﬂ'ﬁé

. (E) Cistheuncle of E/C, E &I dTdl (uncle) g

Choose the correct answer from the options
given below:

o fodr T ferereat # @ W IR AU

(a) (A), (B) and (C) only/&dd (A), (B)3 (C)
(b) (A), (C) and (E) only/&ad (A), (C) 3R (E)

(¢) (B), (D) and (E) only/&daa (B), (D) 3R (E)
(d) (B), (C) and (D) only/&dad (B), (C) 3R (D)




The ratio of ages of two persons A and B is 3: 4
and that of ages of B and C is 4: 5. If the
average of all three is 40 years, what is B's age?

g AHal A 9T B 3T B IUE 3: 4§
3 B AT C ol 3T B U 4: 5 g1 R
AT i o g 40 99 A B) @ Y

fepertt 87
(a) 20 years/20 ¥

(b) 30 years/30 3 @

(c) 40 years/40a'f?(d) 50 years/50 T




Given below are two statements.
r=r Sr v fag g 2 7)))

Statement/<heslA1 :

If A, B and C are standing in a circle looking at _ N\ ’J}/ & %\

the centre and B 1s just left of A then C 1is just
right of B/af@ A, B 30X C fopEt g9 & @2 BT
= #1 3T ZE T § ae1 B Ik A % ard § @, ar I\QLP C
C, 3 B & <@ & 21
—_r =
Statement/<helA 11 :

If X, Y and Z are standing in circle looking at the \‘

centre and X is just right of Y, then Z is just right \/
of X/afg X, Y 3R z frdll ga # W< a8t Fex &I °

FIRI@ R EIM X IAF Y F @@ ¥ &, ar Z S -1
X % ard # &1 ~~

In light of the above statement, choose the
correct answer from the options given below.

Iud<h hAAl oh 3TTclleh W fAifera faskear &

o WE 39T I

(a) Both Statement I and Statement 11 are true
e 1 37X 11 <41 9t &)

(b) Both Statement I and Statement Il are false
HATF 1 A 11 <t TAad 2

{c) atement I is true but Statement 11 is false

oq I 9 @, foh=g &= 11 7Tad 21

( Statement I 1s false but Statement 11 is true

Fa 1 379 8, fohg HaT 11 Tt 2




In a 100 meters race, A beat B by 10 meter or 2

second. What is the speed of A?
100 HieT & Ueh SIS § A B &l 10 HieT =T 2

Uche U FUAT A Y T AT § ?

(a) 5 km/h/5 foh. 1. 5T @ \/
(b) 10 km/h/10 fo.1./5eT M

(c) 15 km/h/15 fo.aft sz

(d) 20 km/h/20 fe. 1. /5T

5




Three pipes fill a tank in 4 hours. If two of "
them take 8 and 12 hours each to fill the tank, |
how many hours will the third pipe take to fil@
the tank?

9 UTST Ueh Sl @il 4 e W W Wehd 31 AfS
390 U T UTSY Uk el ht Wi o § 3 12
HS T AU oId &, dF diEY UIST ekt Seht WA |
fera =i o1 wHa Tm?

(a) 6 hours/6 ge (b) 15 hours/15 5e

(¢) 18 hours/18 ®2 (d) 24 hours/24 2




Which one of the following schools has not
accepted anumana (inference) as a valid source

of knowledge?

fafefaa ﬁ T @4 § 9WET A 3TAE &l
@m%ﬁh%mﬁﬂm:ﬁm%?
(a) Advaita Vedanta/375d 9=

(b) Visistadavaita/faf¥Tega

@hawaka/aﬁl?ﬁ) _ }(
(d) Sankhya/ yi—




Easy Notes 4u Online Study

Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

fier 9 o fau 1o & ™S98 ues ot e tfaasmRea=
(A) 2T EY =Rl 9<h (R) <hal ITaT 8
Assertion/3ITshearA (A) :

Substance 1s always the subject of all predicates
garef TEg wft faeEat = fau=a 2

Reason/d<h (R) :

Substance i1s self existent and self- conceived

garef Oa: fama— v w@a: fa=nfia T 21

In the light of the above statements, choose the
correct answer from the options given below.

Iudwh heAl ok 3TTelleh W faaitera faekeat o

o T Er 39T I -

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3T (R) [

TE 2 3T (R), (A) & ST ===

(b) Both (A) and (R) are true but (R) in NOT the
correct explanation of (A)/(A) 37 (R) =1
& @ 31T (R), (A) 1 O =aeam =&t @

(c) (A) 1s true but (R) 1s false
(A) T @ 93=I (R) T&T =T 21

(d) (A) 1s false but (R) i1s true
(A) TE T & g (R) G 21




Given below are two Statements :

el <1 s fau 7w 8
The water of the pond is muddy It must have
rained last nlght/‘m gt weder ) @

TerTa I 3
SR Rersi W eI weRT me
mw%lmﬁﬁuﬁmgﬁql Q@l\’

What kind of Anumana (inference) has been é\')’-;
used in the above statements. Choose the
correct option from the following

(A) Shesavat anumana/3Sa SATHI

(B) Comparison/qei-T

(C) Purvavat anumana/Jddd, 1AM Easy Notes 4u Online Study
(D) Both (A) and (B)/(A) T (B) &

Choose the most appropriate answer from the

options given below :

e foar T farmhent § ¥ W I 9w
(a) BT (A) b)m(B)
(c) Fa (C) (d) e (D)




Match List I wish List I1:
TAt- (1) T Git-(11) o AT AT shiteg

List/=i-1 List/=i-11
(Philosophical (philosophical schools)
doctrines) 9it~rer ferermT e "),Q)
qeiten frgr=
(A) |Syadavada (I) |Nyaya/=md
Aledis \ // V\V‘\/\"-}?
(B) | Anupalabdhi /(II) Buddhism /4
SAgus 7%“ A 39
(C) |Apoha/a3marg (/ ) | Vedanta/dgr=d
(D) | Abhava/3T4Te (IN) |Jainism/si91 g3

Choose the correct answer from the options
given below :

:ﬁﬁ for T farehedt o @ W& 3TX EIEL / Easy Notes 4u Online Study

(a) (A)-(I), (B)-(IV), (C)~(I1I), (D)-(I)
(b) (A) -(IV), (B)-(111), (C)-(1I), (D)-(I)

(c) (A) -(1), (B)-(11), (L)-(1V), (D)-(111)
(d) (A) -(IID), (B)-(I), (C)-(1I), (D)-(IV)




Which one of the following pramanas has been
accepted in Buddhism?

dig Od g frAfaiad O § @I W WHTT @t
witert fera tam €

(a) Arthapatfi/37erafe

(b) Anupalabdhi/aijqcflﬁﬂ
(c) Sabda/3ITea Easy Notes 4u Online Study
(d) Pratyaksha/ScTe]




A type of memory that holds the computer @
startup routines 1s

TAHT &1 9% YT hi-T1 AT g, T R
(a) Cache (b) RAM
(¢) DRAM @RM OV »

J J °
o182 @@@@“
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